

$$x^2 - ax + c = 0$$

$$x_1 = rx_2 \Rightarrow x_1 \cdot x_2 = \frac{c}{a} \Rightarrow$$

$$rx_2 \cdot x_2 = \frac{c}{a} \rightarrow x_2^2 = \frac{c}{a} \rightarrow x_2 = \pm \sqrt{\frac{c}{a}}$$

$$\begin{cases} x_2 = \sqrt{\frac{c}{a}} \rightarrow x_1 = r \times \sqrt{\frac{c}{a}} = r \rightarrow x_1 + x_2 = \frac{a}{r} \rightarrow \frac{a}{r} = \frac{a}{r} \rightarrow a = 1 \\ x_2 = -\sqrt{\frac{c}{a}} \rightarrow x_1 = r \times -\sqrt{\frac{c}{a}} = -r \rightarrow x_1 + x_2 = -\frac{a}{r} \rightarrow -\frac{a}{r} = \frac{a}{r} \rightarrow a = -1 \end{cases} \rightarrow \boxed{a = \pm 1}$$

$$x^2 - (m+1)x + 1 = 0 \quad \left(\sqrt{\frac{1}{x_1}} + \sqrt{\frac{1}{x_2}} \right) = 10 \quad \frac{1}{x_1} + \frac{1}{x_2} = 100$$

$$\frac{1}{x_1} + \frac{1}{x_2} + 2\sqrt{\frac{1}{x_1 x_2}} = 10 \rightarrow \frac{x_2 + x_1}{x_1 x_2} + 2\sqrt{\frac{1}{x_1 x_2}} = 10 \rightarrow$$

$$x_1 \cdot x_2 = \frac{c}{a} = \frac{1}{r^4} \Rightarrow r^4(x_1 + x_2) + 2\sqrt{r^4} = 10 \rightarrow x_1 + x_2 = \frac{10}{r^4}$$

$$x_1 + x_2 = \frac{m+1}{r^4} = \frac{10}{r^4} \rightarrow m+1 = 10 \rightarrow m = 9$$

$$mx^2 + rx + r = 0 \xrightarrow{m=9} -x^2 + 9x + 1 = 0 \rightarrow \boxed{\alpha \cdot \beta = -1}$$

$$x^2 + kx - 9 = 0, \alpha + \beta = 1, \alpha \cdot \beta = -9, k = ?$$

$$x^2 + 4x + a = 0 \quad \alpha < \beta < 0$$

$$r\alpha^2 + r\beta^2 = 12\sqrt{r} + 10 \quad a = ?$$

$$\alpha + \beta = -4, \alpha \cdot \beta = a \quad \alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta$$

$$\underbrace{r\alpha^2 + r\beta^2} + a^2 = 12\sqrt{r} + 10 \rightarrow r(\alpha^2 + \beta^2) + a^2 = r(16 - 2a) + a^2 = 12\sqrt{r} + 10$$

$$\rightarrow \alpha^2 - 4a + 12 = 12\sqrt{r} + 10$$

$$x^r - v x^r - a = 0 \quad x^r = t$$

$$t^r - v t - a = 0 \rightarrow s = v, p = -a$$

$$r x^r - a x + b = 0 \quad \alpha + \beta = +\frac{a}{r}, \quad \alpha \cdot \beta = \frac{b}{r}$$

$$r a x^r + a x - 4 = 0 \quad \alpha' + \beta' = -\frac{a}{r}, \quad \alpha' \cdot \beta' = \frac{-4}{r} = -r$$

$$(\alpha - \frac{1}{r}) + (\beta - \frac{1}{r}) = \alpha + \beta - \frac{2}{r}$$

$$(\alpha - \frac{1}{r})(\beta - \frac{1}{r}) = -r \rightarrow \alpha \cdot \beta - \frac{1}{r} \alpha - \frac{1}{r} \beta + \frac{1}{r^2} = \alpha \cdot \beta - \frac{1}{r}(\alpha + \beta) + \frac{1}{r^2} \Rightarrow$$

$$-r = \frac{b}{r} - \frac{1}{r}(\frac{a}{r}) + \frac{1}{r^2} \rightarrow -r = \frac{b}{r} - \frac{a}{r^2} = \frac{r b - a}{r^2} \Rightarrow r b - a = -15$$

$$\alpha + \beta - 1 = -\frac{a}{r} \rightarrow \alpha + \beta = 1 - \frac{a}{r} \Rightarrow r b - 1 = -12 \rightarrow r b = -12 \rightarrow b = -9$$

$$\left[\frac{ab}{r} \right] = \left[\frac{1 \times (-4)}{r} \right] = \left[\frac{-r}{r} \right] = [-10] = -r$$

$$a x^r - a x - b = 0 \rightarrow \alpha + \beta = 1, \quad \alpha \cdot \beta = -\frac{b}{a}$$

$$f \cdot \beta^r + r \cdot a^r - r \cdot \beta = 14$$

$$a = f \rightarrow \begin{cases} f \cdot \beta^r - f \cdot \beta - b = 0 \\ r \cdot a^r - r \cdot a - b = 0 \end{cases}$$

$$a = r \rightarrow \begin{cases} f \cdot \beta^r - f \cdot \beta - b = 0 \\ r \cdot a^r - r \cdot a - b = 0 \end{cases}$$

$$f \cdot \beta^r + r \cdot a^r - f \cdot \beta - r \cdot a - r b = 0 \rightarrow 14 - r \cdot \beta - r \cdot a - r b = 0$$

$$f \cdot \beta^r + r \cdot a^r - r \cdot \beta = 14$$

$$14 - r \cdot (\alpha + \beta) - r b = 0$$

$$14 - r \cdot 1 = r b \rightarrow r b = 13$$

$$b = \frac{13}{r}$$